BEILAVE ZHB—F

2009/10/07 17:22

EFFTENL
=4 J— & FR ILAYREW 18 B & #5 LHE(E ==Riva
H AR ATIT pasH Zone% ATYTF

THREGRT— FEBRT D 21— ILE*2 LZHESLE— K
AER=E (TARY 0 (W/m]
AEBRE (BH) 0 (W/m]
BEEAE (BH) 0 (W/m]
BEERE (BH) 0 W/m1]
NEIMAE 4 [CMH/ mi]

ERHEAD — R ERERE A
EEBMATY TOEEEHHEAHY true
1FRFEEROBERE Qi hH Y false
BRIDERH b Y true

J—URBRE J— US4 J—URBER
g — % FHETE I/ BEERE/ X1 A—4
— R ERERE A
BT E K O—ERE
BREk X7 1—)LE
JE = tbx2 0.5 [-]
BRInp-YDEE 300 [CMH/m]
BERES 20 [m]
75 [E) 58 Bl 1542+ 3 DEECHE

N AEES NS
— R ERERE A HEAK
EEEXFDa—)L% EEE
AN Bk 0.15 [A/m]
A g2 0 [A]
KEi= (E8) 1.2 Met]
K= (ZH) 1.2 Met]
RH=E (hREH) 1.2 Met]
EXRE (EH) 0.6 [clo]
ERE (ZH) 1 [clo]
EXE (DEH) 0.8 [clo]
EFHAT 21— )LE ARiE - EENEDEE
KUTIRE 0.2 [m/sec]
ZHFRBR T D 21— IL£#3 FHRE

MEE (4) NEEZ REE ()
—{EIEERERE A
BAEESR AEE (41)
R P B
BRE 2 A T*1 BE24 7D
AL 22.17 [m]
= BEEREf 0.3 (-]
EERE [°C]
g — %
g — L HIBESR

HEE NEEZ S
— R ERERE A
BAEESR S
A e P B
BEEAS A T+l BES24 T
TR 80 [m]
= REEGREf 0.3 (-]
EE R E [°C]
g — %
BE — U fHIBES

XA TIT) NEEH XAEATIT)

— AR E 4




J— & F ILAYRE 18 B & F5 HEE =R v
BEAEESR XA TIT)
EELR A T XH#
BEE AR A T*1 BE24 T@
AEmIE 200 [m]
BEEBEERf [-]
EEBE [°c]
g —2 %8 EBMEI/BER/AT)T
Y — U fIEES
KHATUT) REEH KA 2TT)
— R ER
BAEESR KA 2T7T)
s A4 7 IR
BRE R A T*1 EREPIO)
TR 200 [m]
= REEGREf [-]
E &R E [°C]
Y —2 %4 EHEMEI/BRER/AVT)T
B — U IBER EHBEI/BERE/ATUT/RFHA
>T)TF)
RELE RE% RELE
— B ERERE R
TAEAVEAS =x1 15 [J/(lit-K)]
BN EREH2 1 [-]
B3R a4 BEas
—EERETER HiBrEER
FREXTD21—ILE Héga{E A3
AHEA SR ZE
TAEAF B =1 15 (W/m]
TAEV R B =2 0 kW]
BERHE] 0 W/m]
BEFEEE 0 kW]
EHFRMAYT O 21— )LE*3 FEI{RE
Jiregil REAZRE 4 Jiregil
— R E R 5B HBER
BRSO a— LA BATER
B 3 2 1 20 W/m1]
F B 5% #ok2 0 kW]
AT AR 93 EE*3 0.5 [-]
FHEE RAEEAL [-]
B4
— R ER
SRR RE 750 [Ix]
FRBAF S sh 100 [Im/W]
FRBAZE B shE 0.8 [-]
HRBRR ST 0.75 -]
LR TE 5 [51]]
£ 3¢ B BA 51| 3 [51]
B2 BA 51 il Fr 2 [m]
EEHGREMAT 21— )LA*4 FEHI{RE
[ fil JR )RS Al
— R ER
Yl O}&E 3G
& E 0.5 [[El/h]
BEABMAY D2 —)LE*2
NEERE gl
R A—4H R Zone% R A—4
EEGLE— FEBRT 21— ILE*2 EFEERE— K
AER=E (JERY 0 W/m1]
AERE (BR 0 W/m1]
EEAE (JEH) 0 W/m]
BEERE (BH) 0 (W/m]




J— & F ILAYRE 18 B & F5 HEE ==Rivs
NEIMAE 4 [CMH/ m]
fwREAN — B ERERE R
ZEEATY TOHEEEAEHH Y true
1EREIRROFERLE DE AH Y false
BRIDERH Dt b Y true
NN HEEES NS
— R ERERTE A HEAK
AEREIATDa— )4 EEE
AN B+ 0.15 [A/m]
N Ex2 0 [A]
RE=E (FH) 1.2 Met]
REE (ZH) 1.2 Met]
Rgi= (hrEAER) 1.2 [Met]
aEXRE (EH) 0.6 [clo]
EXRE (ZH) 1 [clo]
EXE (PREH) 0.8 [clo]
EFHAT 21— )LA AR - FENEDEH
KRR E 0.2 [m/sec]
FHFRBRYT D 21— )L£*3 FHEH
XA RY A—=4) NEEZ XHF (R A—43)
— R E A
BAEER XHF (R A—4)
a4 7 P ¥ii
BEE4S A T+l BEL24 T@
R EE TS 100 [mi]
BEEREEREf (-]
EERE [°C]
g — % EFEFE L/ EERE/ R A—4
B —fIBESR $%§Fﬁ)l:“)b/£i%ﬂ‘é‘/’\° JA—=5 /KRR
A—A
BR(R1JA=4) NEEZ BR(RY A—4)
— BT R
BAEESR BR(RYA—4)
R P PR
BEE AR A T*1 BEL24 T@
NEEE TS 100 [m]
BREREEGREf [-]
& &R E [°C]
gy — % EEATEIL/BERE/ R A—2
BiE Y — U fH|BER EBEFMEIL/BERE/ R A—2/KRF (R
) A—4)
HLEE (#F) SV EER SV EE (3F)
— RS TER
B A ES SV EE ()
AR P B
By & BENR
SNEREA 53]
SR INES 0.7 [-]
RIEREE 0.9 -]
A AT 1.2 [m]
EERE [°C]
HLEE (3B) SV EER 5\ BE ()
— R E A
BAEER 5V EBE ()
a4 7 B
Bo &4 BELR
SNREH i3]
EEDLUIES 0.7 [-]
RIRmSE 0.9 -]
CAATE 14 [m]
EERE [°C]




J— & FR ILAYRE EHEAW BB ==Rivs
VAN SV B2 b\ B2
—EEARERE 4
BiAEESR 45\ BE
LA T B
By &4 BENE
SREA 53]
EEDLAIES 0.7 [-]
FIRRST = 0.9 -]
VA AL 12 [m]
B R E [°C]
RELE RE£ RELE
— IR ERERE A
TR R E*] 15 [J/(it-K) ]
BN EREx2 1 (-]
HaR e HEa
— iR ERERE A HBEER
FREATD21—ILA héaa {3
AEAR 58 ) 28 5
THEA R EVE X1 15 W/m]
TEENF B E %2 0 [kw]
HEAFEVE ] 0 W/m1]
HBEAREEXD 0 kW]
EHFRMAT O 21— )LE*3 FHEIRE
il IREAZRE 4 HZER
— R ERERE A Bl
BIRTDa1—)LE JVSES
HE BR F i 1 20 W/ m]
HZ BR3¢ 02 0 kW]
TS Rk 53 EE*3 0.5 -]
SSEE R ETEAL [-]
=4
—EEARERE 4
RERE 750 [1x]
FREAF L3 100 [Im/W]
FREAZR E X 0.8 [-]
EER{RSF R 0.75 [-]
H B 1| 5 [51]
£t B2 BA 51 #4 3 [51]
H2BA 5 Rl b 2 [m]
FHBRBR T D2 —)LE*4 FHEIRE
= =4 7=
—iEEARERE 4
VS A 53]
R 45.6 [m]
T54 2 FiRER X O
AFWEBRE 20 [lit/(sec-m)]
AFWEER R 47 2 2 — )L F %2
JT54 2 Kig%E =] ]
HSRiESE 24 R HZ RELE6mm: low-€ &'1) —
> (§B2]&) +3BH:8mm
T54 2 FERERS 21— )LE*3
BRAEHE BAFELZL
— IR ERERE A
EEm S S*4 0.75 [m]
PR = 51 2 +4 0.2 (-]
e 0.5 -]
B I 5 HExd 0.4 (-]
R H & 5 #*4 0.7 [-]
ATy MEER 45 [° ]
& R RElEES (]S

—EERRES




J— R ILAY AR HE B BREB i

S E & OmKE A

R B3 0.5 [El/h]

BRAUEBR T O 1—ILA*2

PR ETE &5




